120401

FRAUBEDTERN #stestsDC @ &

OF B IF R} —TEER

TR
HTFRE
TR
TR
TR
TR
TR
TR
TR

NARILL, FYb

PCT/RAMNRILL, TV (SDCTSA TR ML)
INREE

+FrUF ML (&5, ER)

FRRLCGHUIARILE)

TLRERILE, 7k
NATIRILE(FryTRY)21—)
ARANFIESHRL (R—a+wYk)

O —H —AAK FINI &)

ERURRAS DY AR, R OF A A EHERHEEBMIRERYET,

TOMME

ZUTIILEE (N\RATAA  AaRI)L, ERILE)
»SUS630, —HHRA T LA E

— LB ERBLFE T

SL2C. TANAKA

http://www.sdc-tanaka.co.jp/

¥ =4t SDC H

A1t HREXERR

T558-0053 T140-0014

KEmffEERFEFLF1-10-6 BHEREEG)IRKXFH1-21-2-305
TEL 06-6672-3701 TEL 03-3778-3391
FAX 06-6672-3753 FAX 03-3778-3392

1/3



MFaUBmE EEYAXR

725 TR E
AR VAV :: a8 ’d -
2hC/ $hU o O 178 R4k -
FRS9901:1999 34X 4> Ti2 FRS9901:1999 BEX 4 Ti2
B4R 17399 A8 B4R 17399 A8 B4R IAVPIN
M4 X 10 500 M12 X 25(24L) 50 M3 (h—<—) 1000
12 500 30( # ) 50 M4 (h—=—) 1000
15 500 35( m ) 50 M5 (h—=—) 1000
16 500 40( 1 ) 40 M6 (h—=—) 800
20 500 45( 1 ) 40 M8 (h—=—) 400
25 500 50( # ) 40 M10 (h—=—) 200
30 500 55( u ) 30 M12 (E&ED 100
H4X 17399 A8 60( ) 30 M16 (L) 80
M5 X 8 500 65( # ) 30 M20 G 40
10 500 40 % 30 40
12 500 45x 30 40
15 500 50 X 30 40 PCT ) —-X
16 500 55 X 30 30 ARARICRUARFYMNIISDCTS AT REELLE
20 500 60 X 30 30 EHETCEICRY, FfFE-ADUERIELET,
25 500 65 X 30 30 [SDCTSATRERILNIE I, HoZ-a—T4VY
30 400 70 30 25 LB, BERIEERLEV ORI RO R B A
35 400 75% 30 25 B DY —VBETHLSHERETEY .
40 400 80 % 30 20 SERAELMRLES,
H4X 17399 A8 85 % 30 20
M6 X 12 400 90 x 30 20
15 400 95 x 30 20 TR E
16 400 100 % 30 10 PCTRBHRNM
20 400 110 x 30 10 SDCTFS XY REE L MR (45
25 300 120 % 30 10 Eh'ﬁ'\’
30 300 130 % 36 10 FRS9901:1999 34X 4 Ti2
35 250 140 x 36 10
40 250 150 X 36 10 HAX
45 200 14X 173y A3k M6 X 16 M10 X 35 M16 X 50
50 200{M16 X  30(£#l) 20 M6 X 20 M10 X 40 M16 X 55
55 150 35( m ) 20 M6 X 25 M10 X 45 M16 X 60
60 150 40( ) 20 M8 X 16 M10 x 50
H4X 17399 A8 45( nm ) 20 M8 X 20 M12 x 50
M8 X 12 200 50( # ) 20 M8 x 25 M12 X 55
15 200 55( m ) 18 M8 x 30 M12 X 60
16 200 60( # ) 18
20 200 65( # ) 16
25 150 70 # ) 16 TR E
30 150 75( ) 16 PCTR&AFVbH ¢ e
35 130[ M16 X 50 X 38 20 SDCTFS XY REE L MR (45 < _
40 120 55 X 38 18 a
45 100 60 X 38 18 FRS9901:1999 34X 4 Ti2
50 100 65 X 38 16
55 80 70 % 38 16 HAX
60 80 75 x 38 16 M4 (h—=<—)
HA4X 17399 A8 80 % 38 14 M5 (h—<—)
M10 X 20(£4L) 90 85 x 38 14 M6 (h—<—)
25( ) 80 90 x 38 12 M8 r—<—)
30( # ) 70 95 x 38 10 M10 (h—<—)
35( m ) 60 100 x 38 10 M12 (h—<—)
40( 1 ) 60 110 x 38 10 M16 (h—ew—)
45( 1 ) 50 120 x 38 10
50( # ) 50 130 x 44 10
M10 X 35 X 26 60 140 x 44 10
40 % 26 60 150 X 44 10
45 X 26 50 HA4X 173y A%k
50 X 26 50/ M20 X 60 X 46 10
55 X 26 40 65 X 46 8
60 X 26 40 70 X 46 8
65 X 26 40 75 X 46 8
70 X 26 30 80 X 46 6
75 X 26 30 85 X 46 6
80 X 26 25 90 X 46 6
85 X 26 25 100 X 46 6 OHARRUNDERIEZTEEICTRYET
90 X 26 25
95 x 26 20 SC. TANAKA
100 X 26 20
http://iwww.sdc-tanaka.co.jp/ 2/3 #xX &%t SDC A &




MFE BG AEY AR

HFaL HMFa
FESR TERAEFML(ES LX)
{ -
-
HYA4X IAVIIDN HA4X IAVIDN HYA4X IAVIIN:
M 3 (33x8x0.5) 5,000 M2 X (#BRo#) 3 1,000 | M5 X (_o#) 6 500
M 4 (43x10x0.8) 3,000 BROH) 4 1,000 8 500
M 5 (55x12x0.8) 2,000 BEROH) 5 1,000 10 500
M6 (65%13%1.0) 2,000 BEROH) 6 1,000 12 500
M 8 (85X18%1.5) 750 BERO#H) 8 1,000 14 500
M 10 (10.5% 22X 1.5) 400 D) 10 1,000 15 500
M12 (12.5%26x2.0) 250 AR IAVIIDN 16 500
M16 (17X32%20) 150 M3 X (Ro#) 5 1,000 20 500
M 20 (21x40x3.0) 100 6 1,000 25 300
8 1,000 30 300
10 1,000 35 300
fiFa 8 12 1,000 40 300
NZES 14 1,000 45 300
15 1,000 50 300
{,.
- 16 1,000 *ﬁ'»ff IAVZPN
i N 20 1,000 M6 X (5ADH) 8 300
& 25 500 10 300
=’ 30 500 12 300
M4 X (BERO#H) 6 1,000 14 300
H4X RN 8 1,000 15 300
M3 -2 5,000 10 1,000 16 300
M4 -2 3,000 12 1,000 20 300
M5 -2 2,000 14 1,000 25 200
M6 -2 2,000 15 1,000 30 200
M8 -2 750 16 1,000 35 200
M10-2 400 20 1,000 40 200
Mi12-2 250 25 500 45 200
M16-2 150 30 500 50 200
M 20 - 2 50 35 500
40 500
45 500
T 50 500
TRV
TLR&F b
HFaL MFa
1/‘&/ ; ANERFEFRIE NAARMELHRL
L Q* (Frvy7R9VYa1-) (k—ntv h)
= Y
EE S 9,2
F4X TRYIRE oW
M6 X 12 100
M6 X 15 100
M6 x 20 100
M6 X 25 100 HY4X IAVIDN -} HYA4X 1ISI A
M6 x 30 100 M4 X 6 500] M4 X 4 500
[ vl 8 500 5 500
H4X [ 1395 AK 10 500 6 500
M 6 | 100 12 500 8 500
15 500 10 500
20 400 12 500
fiFa 8 25 400 15 500
RBU(TEIFRIL) HAX 15 A% H42 InSZIX.
M5 X 6 300] M5 X 5 500
8 300 6 500
3 10 300 8 500
12 300 10 500
. 15 300 12 500
20 200 15 500
25 200 4R 1O A
AR IAVIDN AR IAVIIDN M6 X 5 500
M 3 X 1000 50 M6 X 8 200 6 500
M 4 X 1000 40 10 200 8 500
M5 x 1000 35 12 200 10 500
15 200 12 500
20 200 15 500
25 200 20 500
30 200 AR AV IN
AR IAVIIN | M8 X 8 300
M8 X 10 100 10 300
12 100 12 300
15 100 15 300
20 100 20 300
25 100
OHARRUN DB EEITTRYES 30 100
35 100

http://www.sdc-tanaka.co.jp/

3/3

SC. TANAKA

120401

¥ <4t SDC H



